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610 AP Calculus

Part B TivE: 50 MINUTES.

%}Sam@ questzons in thzs part of the examination require the use of a gmphmg j : : E
“calculator. I?;ere are 17 questions in Part B, for which 50 minutes are allowed »
‘J;Because' ere is. no deductwn for wmnganswers you shotld gt

eXact numerical answer.
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The path of a satellite is given by the 'par'amé,tric-, equations o ‘ F g W

| )\“@GT X % la The upward velocity at ¢ =1 equals = |
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, KQJ Is As a cup of hot chocolate coole its temperature after f minutes is given by :
H(t) = 70 + ke ®*. If its initial temperature was 120°F, what was its average : k

\ - @9 temperature (in °F) during the first 10 minutes? { ]
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\ « The set of all x for which the power series ZT converges is

A) {-3,3} . ®) |x|<3 © |x]| >3
(@ —3=x<3> @ -3<x=3
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) : 6 » The base of a solid is the region bounded by #=4y and the line y = 2, and each
N plane sect:on perpendicular to the y- a;x1s is a square. The volume of the solid is
[““""’“—‘} (A) 8 B) 16 © 20 (D) 32 (E) 64 N
' L 2 244 - {) . 3
Uyt ’ ~ Tdw dy

. A cup of coffee placed on a tab)e cools at a rate of %I-j— . —0.0S(H —70)°F pet ;inute,

FIWV) “)@‘erc H vr,epresen_:t‘s: the temperamre of the coffee and ¢ is time in minutes. If the
A, Lnoffee was at 120°F initially, what will its temperature be 10 minutes later?

(A) 73°F

(B) 95°F (C) 100° (D) 118°F . (E) 143°F
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A e . L Find the area bounded by the splral r =1n8 on the interval & = 0 = 2m.

H Ia

\ (A) 2.405 (B) 2.931
= Q_ 2 > - VoA, L
A § (74e - Z(gﬁ%@) de -

(D) 4.810 (E) 7.487 r= 0
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1estions B8 and ¥k Use the graph of fs shown on [O 7] Let G(x) = fsx - f{t) dt '

72_;, .9\\ .
g v:fv’ ;"” N 1 2 SA 3(){) 3(\{ %\( 1) C
34057 , o [ N
53 )= &' 4T
B g e
A 1 B) 2 ©) 3 (E) undefined

9.

G has a local maximum at x = \N\{\ffﬁ A "
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W.Q,A
‘Q The table bhows the speed of an object, in feet per second, at various times durmg a

12-second mterval

Estimate the distance the object travels, using the midpoint method with 3 subintervals.

(A) 100ft. (B) 101 ft (C) 1111t (E) 150 ft

\ m* =Ll dy
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[l s Find the volume of the solid generated when the region bounded by the y-axis, y = ¢,
and y 21is rotated around the y—ax1s

(A) 0296 ' [ (B) 0592 (D) 3.998

(E) 27.577
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( 1)n 2n
. For which function is 2 2n)! the Taylor series about 0? v

n=0

W B (©sifix B) In (1 +3)

. The hypotenuse AB of a right tnangle ABCis 5 feet and one leg, AC, is decreasmg at
the rate of 2 feet per second. The rate, in square feet per second, at which the area 1s
changing when AC =3 is

25 7 | 3 7
A) v (B) 7 (© = (E) .

. At how many points on the interval [0,] does f{x) = 2 sin x + sin 4x satisfy the
Mean Value Theorem?

(Aynmome (B)1 (©2 (D)3
Which one of the following series converges? .

: "[3 _55:' an'd )j 1- The rate at which a purification process can remove contaminants from a tank of water
is proportional to the amount of contaminant remaining. If 20% of the contaminant can
be removed during the first minute of the process and 98% must be removed to make

_L F"C\ Q"% - 4 the water safe, approximately how long will the decontamination process take? ‘
. Vj B M\ J (A) 2min =~ (B) Smin ‘.(C) 18 min (D) 20 min (E) 40 min
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